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5c¢m 50cm 100cm
OEEHDLE (L) 0.08 0.11 — PA-1000
10/5(A) N  |QERER A 0.12 0.12 — PA-1000
iz 0.07 0.09 — PA-1000
OEESLE (L) 0.10 0.09 — PA-1000
5/16(K)EN |QEERTE A 0.11 0.09 — PA-1000
i 0.06 0.07 — PA-1000
TRE3EE
B B - R IR 5 45 ARBRATALANEER) | g e
5cm 50cm 100cm
OEESLE (L) 0.10 0.11 — PA-1000
10/3(R)EEN  |QERERFEAI 0.12 0.13 — PA-1000
Wiz 0.07 0.08 — PA-1000
OEESDLE (L) 0.09 0.09 — PA-1000
4170K BN |QEER T 0.09 0.09 — PA-1000
b5 0.07 0.08 — PA-1000
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OEESLE (L) 0.11 0.12 — PA-1000
10/30K) &Y |QEREmRFE A 0.14 0.13 — PA-1000
i35 0.07 0.09 — PA-1000
OEEHDE (L) 0.13 0.10 — PA-1000
Y1MOKEY  |QERERTEE 0.15 0.13 — PA-1000
b5 0.08 0.08 — PA-1000
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OEESLE (L) 0.11 0.11 — PA-1000
10/40K)EY  |QERERFE 0.14 0.12 — PA-1000
Wiz 0.07 0.08 — PA-1000
OEESDLE (L) 0.11 0.01 — PA-1000
411(R)EY  |QEERTEE 0.16 0.14 — PA-1000
b5 0.08 0.08 — PA-1000
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10/5(K) EEN  |QERERFEAI 0.15 0.14 — PA-1000
i35 0.07 0.08 — PA-1000
OEEHDE (L) 0.09 0.10 — PA-1000
421(K)EY |QERErRTE A 0.04 0.15 — PA-1000
b5 0.10 0.11 — PA-1000
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10/3(&)ENh  |QERER A 0.12 0.16 — PA-1000
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OEBEHLE (L) 0.13 0.14 — PA-1000
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OEBEHLE (L) 0.16 0.16 — PA-1000
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OEBEHLE (L) 0.16 0.14 — PA-1000

1079 (OK) Eh|QEEREHE 0.13 0.14 — PA-1000
iz 0.07 0.10 — PA-1000

OEBEHLE (L) 0.12 0.14 — PA-1000

8.8 (&) Wh |QEAERTEH 0.17 0.18 — PA-1000
iz 0.08 0.10 — PA-1000
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iz 0.09 0.11 — PA-1000
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3/1K) B OEBEHLE (L) 0.14 0.15 — PA-1000
Qw5 0.11 0.13 — PA-1000
OEBEHLE (L) 0.15 0.16 — PA-1000
Qw5 0. 10 0.15 — PA-1000
2/8(&) BN |EBT(BR)UWLSHHEHET — 0. 09 0. 08 PA-1000
BEhiRBEE(EN) — 0. 07 0. 07 PA-1000
W= (BA) — 0. 08 0. 07 PA-1000
OEBEHLE (L) 0.15 0.15 — PA-1000
i Qw5 0. 11 0.13 — PA-1000
F 25 ERT (BR) LS04 AT — 0. 08 0. 08 PA-1000
1/11(£) Bh
BhiaEE(EN) — 0. 07 0. 08 PA-1000
WEE (BA) — 0. 08 0. 08 PA-1000
OEREFLE (L) 0.12 0.13 — PA-1000
Qw5 0. 11 0.14 — PA-1000
12/71(&) Bh |Loh—IL(BR) — 0. 08 0. 07 PA-1000
WA (EA) — 0. 08 0. 07 PA-1000
RE=E(BRN) — 0. 08 0. 07 PA-1000
OEREFLE (L) 0.17 0.17 — PA-1000
11/12(8) B Qb5 0. 11 0.14 — PA-1000
WB0E(BA) — 0. 09 0. 07 PA-1000
LotR—IL(ER) — 0. 07 0. 07 PA-1000
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Qb5 0. 09 0.13 PA-1000
WAHE(ERN) — 0.08 0. 08 PA-1000
9/6(K) HEN |RAFAEER) — 0. 08 0. 07 PA-1000
Lot—IL(BA) — 0. 08 0. 08 PA-1000
v — -
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Qb5 0. 11 0. 15 — PA-1000
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N Lok—IL (BR) — 0. 07 0. 08 PA-1000
IR B e xs5o s — 0. 08 0. 08 PA-1000
5/11(2) B OBEESLE (L) 0.16 0.17 — PA-1000
Qb5 0.13 0.16 — PA-1000
N Lok—IL (BR) — 0. 09 0. 08 PA-1000
4/20(7) Hn BT (XF—X59 8D — 0. 09 0. 07 PA-1000
4/16(8) B OBEESLE (L) 0.16 0.17 — PA-1000
QHbi5 0.15 0.16 — PA-1000
N Lok—IL (BR) — 0. 09 0. 10 PA-1000
3/19(R) Wn BT (XY —X592TH0) — 0. 08 0. 09 PA-1000
3/140K) R OEESLE (L) 0.15 0.18 — PA-1000
QHbi5 0.15 0.18 — PA-1000
2150k) Lok—IL (BR) — 0.10 0. 09 PA-1000
BT (XY —X592TH0) — 0. 08 0. 09 PA-1000
2/80Kk) B OBEREFLER (L) — 0.18 0.17 PA-1000
QHbi5 0.16 0.19 — PA-1000
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244 OBEREHDER (L) — 0.18 0.17 PA-1000
1/716(A) E |@#i5 0.16 0.19 — PA-1000
EREFLE (L) — 0.19 0.19 PA-1000
b5 0.14 — — PA-1000
127200K) BN |BER (L) — 0. 27 — PA-1000
IRYER (L) — 0. 26 — PA-1000
FEIE (L) — 0.17 — PA-1000
LoH=—IL(BA) — 0. 09 — PA-1000
11./21 i3
(R) B 1o v m — 0. 08 — PA-1000
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Oy 2 _ —
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10714(&) B -
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